Pot Pot Pot Pot
NEPTUN 1.zH 1.zH 2.ZH 2. ZH 1.°ZH 1.OZH Z.OZH ZTJZH Jegy uv
PONT jegy PONT |jegy ] ]
pont |jegy pont Jegy
BVDON2 NJM 4 2 2 1 uv 1
MRR5KN 6 2 4 2 2
DXBUD3 2 1 NJM uv NJM
BRDBXT NJM 3 1 3 1 4 2 uv 3
CPXQEJ 2 1 4 2 3 1 4 2 uv 3
A5KJI5 2 1 4 2 1 1 uv 1
DVTULF 5 2 5 2 2
XD3Y0O 4 1 5 2 3 1 uv 2
DE4G7G 4 1 5 2 6 3 3
V4328F 5 2 7 4 3
FK1NOF 1 1 3 1 0 1 3 1 uv 3
B3APOF 7 3 9 5 4
E6PZAJ NJM 0 1 uv 2
LUKNN2 3 1 3 1 uv NJM
K1ZDJF 7 3 6 3 3
JSETEU 6 2 6 3 3
HQOS8C 5 2 4 2 2
H39L1E 5 2 1 1 3 1 uv 2
UIN9Y2 NJM NJM 2 1 0 1 uv NJM
WOPKR1 6 2 2 1 4 2 2
NXVQF1 NJM NJM 2 korabbrol
JKGYOS8 4 1 3 1 4 2 1 1 uv 2
HXEG1F 5 2 6 3 3
HOFHID 5 2 7 4 3
P2ONMD 9 5 8 5 5
GZ3KV8 6 2 2 1 6 3 3
GTBJOP 6 2 6 3 3
QYFEO4 4 1 4 2 3 1 uv 3
ADLY70 7 3 1 1 2 1 uv 2
KX66TO 5 2 3 1 1 1 1 1 uv 4
QVvJ2QB 5 2 4 2 2
FHFD7Z 5 2 6 3 3
S5VTSX 2 1 5 2 3 1 uv 2
A30AX3 7 3 2 1 4 2 3
DLP3T8 NJM 4 2 3 1 uv 3
C3TD80 7 3 9 5 4
LYBUEE 5 2 6 3 3
XMOHC6 5 2 3 1 5 2 2
legy Ponthatar Ponthatar Ponthatar Ponthatar
1
2 5 4 4 4
3 7 6 6 6
4 8 7 7 7
5 9 8 8 8
jegy darab % darab |% darab (% darab %
1 10 31% 12 34% 11 85% 6 50%
2 16 50% 12 34% 1 8% 5 42%
3 5 16% 6 17% 1 8% 1 8%
4 0 0% 2 6% 0 0% 0 0%
5 1 3% 3 9% 0 0% 0 0%
Osszes: 32 100% 35 100% 13 100% 12| 100%




